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This question paper consists of 39 questions in 5 sections. ¥
All questions are compulsory. However, an internal choice is provided in some questions. A
student is expected to attempt only one of these questions.
Section A consists of 20 objective type questions carrying 1 mark each.
Section B consists of 6 Very Short questions carrying 02 marks each. Answers to these questions
should be in the range of 30 to 50 words.
Section C consists of 7 Short Answer type questions carrying 03 ma
questions should be in the range of 50 to 80 words.
Section D consists of 3 Long Answer type questions carrying 05 marks each. Answer to these
questions should be in the range of 80 to 120 words.
Section E consists of 3 source-based/case-based units of assessment of 04 marks each with sub-

parts.

rks each. Answers to these

Section - A
SI unit of retardation is ; : @)

An unbalanced force is necessary for an object to be (1)

a) atrest

b) in motion with a constant velocity
c) accelerated

d) all of the preceding

Two particles are placed at some distance. If mass of each of the two particles is (1)
doubled, keeping the distance between them unchanged, the value of gravitational
force between them will become/ remain.

a) Yatimes B) 4 times  c) %2 times d) unchanged
The value of ‘g’ is at the poles of the earth , C_’YV\OJM'W\L\M l'«m\m‘\ mw\)(l)
Physical state of water at O°C is (1)

a) solid b) liquid c)gas d)none of these

The correct order which describes the true solution, colloidal and suspension in the (1)
order of stability is

a) Suspension < colloidal < true solution

- b) Colloidal solution < true, solution < suspension
c) True solution < colloidal < suspension
d) Colloidal solution < Suspension < True solution

A gas can be liquefied by (1)

a) lowering the temperatm.'e
) increasing the temperature
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Q8.

Q9.

Q10.
Qll.
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Ql3.

Ql4.

Ql5.

i nraadl e .
I SNy e e e and lowering the temperature |

d) both by increasing the pressur
Example of an element among the following 18 .
a) Water b) Ammonia  ¢) Salt d) Iron
Two liquids A and B have boiling points 350 K a

intermolecular forces at attraction?
What is dispersed phase and dispersion medium

nd 375 K.{ Which has higher (1)

in cloud?
(1)

Cork is impervious to water because it contains 0

a) lignin b) suberin  ¢) pectin d) fibre
The dead element presént in the phloem is y
a) companioncell  b) phloem fibre c) phloem parenchyma d) sieve tube (1)
If the tip of sugarcane plant is removed from the field, even then it keeps on
growing in the length. It is due to presence of 1)
a) cambium b) apical meristem  c) lateral meristem d) intercalary meristem
Which type of plastids provide various colour to flowers to attract insects for
pollination (1)
a) chloroplasts  b) leucoplasts  d) chromoplasts d) none of the above
Among the following which are pres‘eht in plant cell and not in animal cells?
a) mitochondria and plastids (1)
b) mitochondria and cell wall .
c) cell wall and lysosomes

1)

ents are given - one labeled Assertion
ct the correct answer to these questions
n below:

correct explanation of the assertion.
ason R is not a correct explanation of

sguantity. (1)
itude and direction.
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Q18.

Assertion : When distanc
: 3 e between two bodies is doubled and al
body is doubled, gravitational force between them becom:s hirl\f poagmsie 1

R : ~ }
t:a;:m : AC;:ordmg to Newton's law of gravitation, force is directly proportional
asses of the bodies and inversely proportional to square of the distance

between them.
OR |
Assertion : The direction of acceleration due to gravity is always towards the

Reason : The value of ‘g’ is 9.8 m/s?

¥ A

)

ot M)

Q19.  Assertion: Pure substances have fixed melting
Reason : The properties of a compound are similar to those of its components.
Q20.5, Assertion : Plasma membrane is selectively permeable. @)

Reason : Plasma membrane allows all molecules to pass through it easily.
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Q27.

Q28.

Q29.

Q30.

Q31.

Q32.

gection - C

The velocity - time graph shows the motion of a cyclist. Find 3
A .
i s
a) its acceleration é N 2
b) its velocity and 50-

¢) the distance covered by the

5

cyclist in 15 seconds. %\0' , |
S A
Wirs \0 L5 L o T & < 0 ( A)
i if i 8m/s (3)
ject of 100kg is accelerated uniformly from a velocity of 5m/s to
T Calkdlaiy e momentum of the object. Also, find the

in 6s. Calculate the initial and final
magnitude of the force exerted on the object.

Show that the weight of an object on the moon is 1/6% of its weight on the earth. 3)

Water is considered as compound not mixture. Justify your answer by giving four (3)

reasons.

Define aerosel Give one example.

a) Define latent heat? What are its types 3
b) Define Homogeneous and Heterogeneous mixture with example.

(€))

a) Give reason for -
Meristematic cells have a prominent nucleus and dense cytoplasm but they

lack vacuole. 8
b) Draw well labelled diagram
bOdY' :‘ ’ Sha ko N Lt Hames By

B Tet i ey
e R O L b R

to show location of meristematic tissues in plant

e plant cell placed ina hypotonic solution, not burst? 3)
‘when a fully turgid plant cell in a hypertonic solution?

giapart ()

o &)
e roof of the car.

[tom if. -

block of the same shape and

é;iches of a tree are shaken
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a) Distinguish betw '
een True solution and suspensi ' :
ek o uspension on the basis of following (5)

i) Particle size ii) Appearance iii) Tyndall effect

b) A solution contains 50ml -

:  of sugar in 150 ml of water. Calculate
its concentration. '

OR
a) Classify the following as physical or chemical change.
i) Tarnishing of silver spoon
ii) Sublimation of iodine
iiiy  Burning of wood
iv)  Dissolving salt in water
b) What mass of potassium nitrate would be needed to produce a saturated
solution of KNOs (potassium nitrate) in 50gm of water at 313 K. Given
solubility of KNO; is 62gm in 100gm of water.
Q36. 1) Differentiate between collenchyma :
and sclerenchyma (give 3 points)
2) a) Label ‘X’ and Y’ in the given figure.
b) Give one function of ‘X’ .

ts form. The heat of the sun evaporates the (1%4)
vapour. The evaporation of water takes place
s all the time. Sometimes, it is slow and
f evaporation is condensation, in which

is due to these two processes. Like
portant role in nature. Because of
, are formed under different



Q2. Evaporation of water does not increase by
a) increase in temperature b) increase in humidity
¢) increase in wind speed d) increase in surface area

Q3. Which of the following changes represent evaporation process?

a) Shrinking of grapes kept in thick sugar syrup- «
b) Decrease of size of naphthalene balls
¢) Water kept in earthen pot becomes cool during summer.

d) Formation of clouds.

Q4. Which of the following is not true?
a) Alcohol evaporates slower than water.
b) Condensation process is reverse of evaporation.
¢) The conversion of solid CO2 into gaseous state directly is sublimation.
d) The boiling point of a liquid depends on the atmospheric pressure.

ot be constant. In most cases, objects will be in non-

Q38. The speed of an object need n
uniform motion. Therefore we describe the rate of motion of such objects in terms
d by dividing the

of their average speed. The average speed of an object is obtaine
total distance travelled by the total time taken. That is, average speed -total distance

travelled / total time taken. Answer the following.
m in 5 s and then another 20 m

1) An object travels 20 in 5s. What is the
average speed inm/s of the object? :
a) 4 b)5 Q) O d) none of these

2) An object travels 20 m in 5 s and then another 40 m in 5s. What is the

average speed in m/s of the object?
a) 4 b)oie  C)6 d) none of these
ar field of radius 7 km and

3) A man starts walking fr’orh a point P on a circul
after 1 hour later he comes to Same point P after one complete round. find -

hi speedn(takepi=22/7) [
a) 30km/hr  b)40km/hr n/hr  d)33km/hr

side 10m. He completed one round of
respectively for each side. Find his

g

bepidermal tissue is present that (1x4)
v. This prevents their tearing
ound in roots. It is absent in
ity and mechanical strength.

o
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a) What is the name of the tissue that provides both mechanical strength and
flexibility?

1) Parcenchyma  2)Slerenchyma 3) collenchyma 4) Xylem

b) What is the characteristic of its cells?
1) Elongated and circular 2) Short and angular
3) Elongated and angular 4) Short and circular
<) Cell wall of these cell is
1) With irregular thi ening
3) excessively thickened wall

d) The most nhmd;;;; tésma of the




